
- You should hand me the answers to Week 7 right at the beginning of Wednesday’s lecture of April 27.
 - The answers should be manuscript (not typewritten) and preferably based on schemes (as I do in the whiteboard). Keep a copy for yourself.

Please write WEEK 7 in bold at the beginning of your answers.

Ch 3:Minsky’s explanation of economic booms and recessions. 

L12: Basic notions
1.Which are the two basic types of businesses’ funding?

2. Which are the two regular obligations imposed by debt?

3. What’s the difference between cash-flows and profits?

4. What’s the difference between the return on capital or assets and the return on equity?

5. Suppose the interest rate is 10%.

a) If a business has financed 99% of the purchase of its capital with debt, under which circumstances will its cash-flows be insufficient cover its interest payments?

b) If a business has financed only 1% of the purchase of its capital with debt, under which circumstances will its cash-flows be insufficient cover its interest payments?

c) In which of the two cases will the business be able to borrow to undertake new investments? Explain.
6. The higher is a company’s debt relative to its assets, the higher is the probability that its interest payments will exceed its production cash-flows. Why?

7. What does a company’s leverage ratio equal to 4 mean? 

8. Suppose that the rate of return of capital exceeds the interest rate by 5 percentage profits. 

a) By how much will profits increase if a business’s debt rises by 200 euros? Explain.

b) The value of the business’s equity is 100 euros.  By how much will its profit rate increase? Explain.
8. Under which circumstances does leverage amplify a business’s profits? Explain with a numerical example.

9. The value of a business’s equity is 100 euros, and the rate of return of capital exceeds the interest rate by 10 percentage profits. 

By how much will its profits and its profit rate increase if the business’s debt rises by 50 euros? Explain.
10. “Changes in AD over the cycle are associated with roughly proportional changes in businesses’ revenues.” Do you agree? Explain.
11. “Changes in AD over the cycle are associated with roughly proportional changes in businesses’ profits.” Do you agree? Explain.
L13: Minsky’s  explanation of the cycle
a) How contractions lead to depressions

12.a)Why do businesses’ debt-to-equity ratios remain low some years after an economic contraction?
b) What are the macroeconomic implications of that fact? Explain.
b) Explanation of economic booms

13. a) Why are businesses’ debt commitments easily met at the beginning of expansions?
b) What’s the effect of that fact on investment? Explain.

14. “The rising investment during booms leads to an increase in rK of many businesses”. Why?

15. The rising investment financed with an increasing proportion of debt during booms leads to an increase in rK of many businesses - and to an even greater increase of their profit rates.  ”. Why?
16. Explain the two ways through which rising profit rates during booms ends up leading to rising stock prices. 
17. Explain the reasons why corporate interest rates may rise after a certain point in an economic boom.
c) Explanation of economic recessions

18. “A situation with many businesss with high debts relative to productive capital can easily lead to quick and wide downward revisions of acceptable debt/equity ratios.” Why?

19. The quick and wide downward revisions of acceptable debt/equity ratios impact negatively on new investment. Why?

20. “Initial downward revisions of acceptable debt/equity ratios tend to lead to further revisions of those acceptable ratios.” Do you agree? Explain.

21. Declines in stock prices tend to reduce new investment of some businesses. Which businesses? Explain.

22. Declines in stock prices tend to lead to be self-reinforcing. Why?


